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1. Ramesh walks 10 kmin frontand | 1. IWCI So [FENRGR 7YIT T
10 km to the right. Then every TSI o GIRFICE S o PG
time turning left he walks 5 km, A | ©F TS TEE INSFIE
15 km and 15 km respectively. ¢ @R, se FERER e
How far is he now from the se¢ FEfiE Q% o | oe
starting point 7 TSR 5E o[l R qeee
(A) 2 km R ?

(B) 5 km (A) X TRCEAIRGE
(C) 25km (B) ¢ T
(D) 40 km (©) e PGS

(D) 8o [FEINIF

2. IfD, E and F are three mid points | 2. ABC ﬁ]—\géﬂ BC, CA ¥ AB
of the sides of BC, CA and AB - , —
oftriangle ABC. The area of DEF N%E R %ﬁ 2s D, E F,
is 4 cm?, then the area of ABC | 9fexl DEF 9 (@@l I 4 cm? &%
will be : (9% ABC 9 CF@Fs] [Fuie 29 ?
(A) 8cm? (A) 8 cm?

(B) 12 cm? (B) 12 cm?
(C) 16 cm? (C) 16 cm?2
(D) 24 cm? (D) 24 cm?

3. If the circumference of a circle is 3. IM I GBI R 50% R il
reduced by 50%, then the area 2 (O08 JQBIN CFFaTa] [Pl
of the circle will reduce by — 279
(A) 25% (A 25%

(B) 50% . (B) 50%
(C) 65% (C) 65%
(D) 75 % (D) 75 %
Q1 | 3] Series-A



On a sum of money if the

difference ~ between  simple
interest and compound interest,
both at 10% ,1s ¥ 10 in two years.

What is the principal amount ?

(A) %100 (B) ¥ 500

(C) T1,000 (D) 10

A train leaves Jorhat at 5 AM and
reaches Ghy at 11 AM. Another
train leaves Ghy at 5.30 AM and
at 11.30 AM.

What time the two trains cross

reaches Jorhat

each other ?

(A) 8 AM

(B) 8.15AM

(C) 830AM

(D) None of these

A can do a piece of work in
12 days and B can do it in 24
They started the work

together. Calculate the number of

days.

M (T 419 S 0 *[ORH] 7S] ZS

TARSS AR TS B[ 5 7o
LT So TPl T (SR Tele
RRISEEH:

(A) S00Td  (B) oo b

(C) 000 Gl (D) So 5l

G @@ o[ ¢ JEe @RI
S Tz feq oS TEre @bl
AR | SIFRICS S+ G4 (T 5]
@.\vo IGM® BARIGF 41 5 feq
SS.00 TGS @IRRG A |
gfel P TS R (@O
QT B[P P> I 2

(A) 8 AM

(B) 8.15 AM

(C) 8.30 AM

(D) 9bIS 7T2F

G5 I FREET AF T AME S
i, (12 G I G BF
0ol 28 e | GTFeT0al ST Yoo

days to complete the work ? fopsprer e 7 a7ifarq 2

(A) 8 days  (B) 6 days (A) b = (B) & el

(C) 12 days (D) 7 days C€) s ' (D) af
Series-A Q1



7. If T 2,600 is divided among the | 7. Yoo 5FF I A, B =€ C
persons A, B and C in the ratio | Trers ©4i(3 foryl 2°3 | Pree ©ie[
1/2 : 1/3 : 1/4 respectively. How TATS /2 1 Sl : 5/8 TE B W
much B gets ?
1 51 119 2
A) X700 B) X 800
&) ®) (A) 9005F  (B) oo 5l
(€) X 833 (D) X767 (C) oo 5l (D) 144 5
8. Average 2 monthly pay of five : 8. 91T fZB1oIS b T2 S Yoo
brothers is ¥ 600 and if two 5 W T | I LCRRSCEE
brothers got a pay raise of I 100, yoo B9 wEWEl {f\% AT (O
then the new average pay will C s
be TeNe PrReq oo vl i
wa 97
(A) 620 (B) %640 =
(A) w20 5 (B) w80 G
C) %660 D) %700
© (D) (C) Lo TFl (D) 00 Gl
9.  G-20 Summit 2019 was held in 9. 203> BTS G-xo I F'©
w?
(A) Seol (B) Osaka '
(A) o= (B) SO
C) Tok D) Shanghai ,
(C) Tokyo " "(D) Shanghai (C) T (D) bRz
10. Who is the Director of 10. Intelligence  Bureaud {5
Intelligence Bureau ? @I 9
(A) Samant Goel (A) B 9it<e
(B) K.P. Jain  (B) @RI
(C) Arvinda Kumar (O R
(D) RK. Mishra (D) IR @
Q1 | 5| Series-A



11. Sri Rameshwar Teli is 11. SRS T (ofel 27s 9o 2
(A) Cabinet Minister of Food 3 -
Processing. (A) XI5 SRS Rl
(B) Minister of State in Labour (B) ¥ V@S JifEns T3t
Ministry.
. . (C) 97 elfereee TFers e
(C) Minister of State in Food 5
Processing Ministry.
(D) Minister of State for Tribal (D) @&l © e qifens wat
Affairs.
12. Who has been awarded Padam 12. 205y TS *M&] FAA FIF A
Shri award in 2019 ? 91 2= 2
(A) Sri Arup Kumar Dutta (A) T 9 7@
B) Sri Prafulla Barua |
EC;S'Dh' dra Nath (B) =H
ri Dhirendra Na
Bezbarua ©) A" 1Y (o<
(D) Sri Uddhab Bharali (D) S&d Sqlel
ECE
=
13. Riyan Parag is a 13. ST “[Qis @[ 2
(A) Football Player (A) FTOI&T ¥
(B) Cricket Player (B) &0 S5
(C) Boxer m (C) IR
(D) Badminton player (D) TAGRG cz{tf@
14. “Village Rockstars” was directed 14. foters I9819°S IR0 oiifee —
by —
(A) Jahnu Barua LS
(B) Manju Bora (B) wg
(C) Rima Das © T
(D) Zubin Garg (D) i< sttef
Series-A 16 | Q1



15.

16.

17.

18.

Who is not a member of

BIMSTEC ?
(A) Nepal

(B) Sri Lanka
(C) Bangladesh
(D) Kyrgyzstan

Council of States was renamed
as —

(A) Lok Sabha
(B) Sansad

(C) Rajya Sabha
(D) Vidhan Sabha

Who cannot vote in the Election
of the President of India ?

(A) Elected Member of Lok
Sabha.

(B) Elected Member of Rajya
Sabha.

(C) Elected Member of
Legislative Council.

(D) Elected member of
Legislative Assembly.

The term  “monopoly” is

associated with

(A) Capitalism

(B) Socialism

(C) Communism
(D) Mixed Economy

15.

16.

17,

18.

4T @4 BIMSTECA W7
= ?

(A) T

(B) Q!

(C) R

(D) fefergm

Council of States «NPId <l
P

(A) TeTITSl

(B) ATM

(C) qreprel

(D) REepTel

SRS gTS RS @it colb
= e 2

(A) wTeN fRfite 57

(B) IpTeN foRibe 7w

(C) faie wifeaws fo=ffos st
(D) farTeR FMRifte W
‘Monopoly’ *<q (S J& 4l

2 9
(A) “ffem
(B) &M
(C) TSl
(D) fie wfaifs

Q1
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19. Which is not a Union Territory ? 19. o9 @I (@R *NHT© 727 2

(A) Chandigarh (A) BI&sTT
(B) Puducherry (B) MR
(C) Laddakh (C) @MY

D) Daman and Diu
D) (D) 7 & S
20. Who is the Chairman of Rajya 20. ST ToPife @ ?
Sabha ?
(A) Pl

(A) Speaker
(B) Chief Justice of India (B) SIS RIE

(C) Vice-President of India (C) ©Ieq ToaIgsife
(D) Seniormost Member of | (D) JEPTeR  HbiTSE (70
Rajya Sabha 7 SR |

21. Holes in “Ozone Layer’” are | 21. “Ozone Layer™ Holes @K

caused by E H HE 2

(A) CO, (A) CO,
(B) SO, (B) SO,
(C) CO ©) CO
(D) CFC (D) CEC

22. Which District of Assam has no 22. SPTHA (FIT TSeTre SR A

International Boundary ? 12 2

(A) Dhubri (A) g

(B) Karimganj (B) Jeolg

(C) Tinsukia (C) Tl
(D) Kamrup (Rural) () v ()

Series-A | 8 | Q1



23.

Coin system was introduced by
(A) Pratap Singha
(B) Sukhampha (Khora Raja)

(C) Suklenmung (Gorhgaiya
Raja)

23.

T AR I8 e
(A) el PRy

(B) QIR (X1 <)

(C) TICETTR (51© 21! &)

(D) None of these (D) Q& ==y
24. Who wrote “Namghosa” ? 24, TN RN (I I RS 2
(A) Sri Madhav Dev (A) <M
(B) Srimanta Sankardev (B) J *FAME
(C) Sri Madhav Kandali (C) i FWleT
(D) Jyoti prasad Agarwala Ef (D) Tepifs &% Sis=ae
25. Who wrote ‘Karengar Ligiri® ? 25. I e (ICT oo et 2
(A) Phani Sarma (A) e *f
(B) Bishnu Prasad Rabha (B) < eb1m qrel
(C) Jyoti Prasad Agarwala (C) Teyife epTw Sl
(D) Parbati Prasad Barua | (D) TS ePw =41
26. Whom Bhaskar Barman sent as 26. SR I ZREAE m fapice!
ambassador to Harshavardhan ? | FIF 21oi3fe 2
(A) Vayu (A) Y
(B) Varuna (B) =
(C) Meghadut (C) ™Ee
(D) Hang Savega (D) =Ceal
o O] SerterA



27. Where was Madhavdev born ? 27. AW S Gl (2R ?
(A) Borduwa (A) ItmI<t
(B) Koch Bihar (B) 5 K2
(C) Leteku Pukhuri (C) TG 71Xl
(D) Garmur (D) TTI]
28. Which Assamese film  was | 28. 3¢ DTS (P74 Heiived Ife
released in 1935 ? Ai3feeT 2
(A) Joymati (A) SIS
(B) Paarghat (B) “I<=ib
(C) Monomati (C) WIS
(D) Indramalati (D) 2HF[eTS
29, If a large number of people are 1 29. @5l Poifers T TPRYT T BRS
enclosed in a room, then S 1 94 = CoReT]
(A) Oxygen and Carbon dioxide (A) SRS S FIE T2 SH2T
will increase. EEE Bl
(B) Only Oxygen will increase. : (B) T34 SRS ﬁﬁ% 7
(C) Only Carbon dioxide will (C) e IR4-Tl2 SHiZT I
increase. A
(D) Both Oxygen and Carbon (D) S o PRA-TIR
dioxide will decrease. TRTET TR A |
30. Your doctor gave you 7 Capsules 30. (SN TI&E 95! (FAReT f ‘{@W
to be taken one at 2 hours interval. | I@ I& e e | «@few e
How long the Capsules last ? RS (O (RFIGaT 412 (R 27 2
(A) 14 hours (A) 589G
(B) 13 hours (B) S\© TG
(C) 12 hours (C) S TG
(D) None of these (D) 4GS 72y
Series-A 110 | Q1



31. Bagarumba is a dance of 31. I T I ?
(A) Karbis (B) Tiwas (A) i (B) ot
(C) Bodos (D) Rabhas (C) Tl (D) el
32. To insert three columns between | 32, F& D ¢ ET qer© fofeo! Ty
column D and E, you will o PR SR IR A
(A) Select Column D €9 2
(B) Select Column E (A) Select Column D
(C) Select Column E, F and G (B) Select Column E
C) Select Column E, F and G
D) Select Column D, E and F ( ’
(D) Select Column D, E an (D) Select Column D, E and F
33. From which menu you can insert 33. Header and Footer (<ol ool
Header and Footer ? o4l ©f¥ insert A1 2
EEm B .
(A) In.sert Menu 5 (A) Insert Menu
(B) View Menu (B) View Menu
(C) Format Menu (C) Format Menu
(D) Tools Menu (D) Tools Menu
34. A combination of Row and | 34. Row and Columns NF (FI<
Column is called 33 9
(A) Line (B) Column (A) Line (B) Column
(C) Row (D) Cell ! (C) Row (D) Cell
35. Choose the Word most similar in 35. FIASCO *1(0i] &F AN *=7C0!
meaning. 51 Shiea 2
FIASCO o
(A) Festival (A) Festival
(B) Happening (B) Happening
(C) Ceremony (C) Ceremony
(D) Disaster (D) Disaster
Q1 |11 Series-A



36. Choose the Word nearly opposite | 36. PRUDENT *R6R &% 9i9r®
in meaning. waro! [oifs Sfereqr 2
PRUDFNT (A) Simple
(A) Simple .

(B) Rapid (B) Rapid
(C) Verbose (C) Verbose
(D) Foolish (D) Foolish

37. ©E@ MG W@ e Fe | 37, ©OR (MG R KRR @R
IS R ? IS Z 7
(A) &I (A) It
(B) 39 (B) I
©) Ff (C) it
(D) sl (D) fret

38. o€ (FINGI AR IF IOANGF | 38, O (PG AOR G I5ASIP
ERCEIEERRET = LIRSS L
(A) @R (A) @R
(B) T B) e
(C) W (C) T
(D) ZT© (D) 7

39. AEKE (FOO “TIER =GN 39. AT (FqO TIEIR =
PTCS IG5+ 2O (T 2 PTCS IG5+ 2O (T 2
(A) =© (A) 2©
(B) fei  ®) fEre
(C) F (O
(D) @M . (D) @

Series-A |£, Q1



Q. 40 & 41 : On the basis of the
relationship between first two words,
you have to decipher the relationship
of third word with the options given.

40. Sonitpur : Tezpur :: Darrang : ?
(A) Udalguri
(B) Mangaldoi
(C) Sipajhar
(D) Majbat

41. Satyajit Ray : Film :: Picasso : ?
(A) Painting
(B) Drama
(C) Poetry
(D) Literature

Q. 42 & 43 : Three words are given in
each question which have something in
common among themselves. Choose
the most appropriate description about
these three words.

42. Bantus, Khasis, Maoris
(A) Tribal groups
(B) Herdsman
(C) Pasturelands
(D) Mountaineers

43. Coal, Iron, Mica
(A) Gold
(B) Rock
(C) Earth
(D) Minerals

2P 40 - 41 : &Y G5! %09 A& =045

| DR 9O MBH wwm el ol
| Tfereq |

| 40, CNTT%F : (OEHF 1 MR ?

(A) STsF
(B) ewitn
(C) f=eE
(D) et

41. Tofers 7 : oo =PIt - 2
(A) =R (b9)
(B) «io

% (C) e

(D) =y

o R 42 - 43 : 2AfSHl exs FWR
fooq® fef+5it *= Wl 2= | fofishl
(P ORI T Teqh! [oifa Sferne |
42. IGD, B!, TSR

(A) Eeife

(B) e

(C) Bl #A2F (f¥)

(D) i@

| 43. T, @, o

(A) el
(B) M=

(C) “fft
(D) FEItse

Q1

Series-A



Q. 44 & 45 : Select the words which | &% W% 44 - 45 : ©o] ¥HES 2«1
is least like the other words in the group. | JFEIO(F P A5 APl LR RE I
Sfered! |
44. (A) Carrot 44. (A) &g
(B) Potato (B) =re
(C) Tomato (C) ez
(D) Ginger (D) =Ml
45. (A) Humble 145, (A) R
(B) Civil (B) i<
(C) Rude (C) Sreg
(D) Polite B2 (D) ©u
46. In a certain code STABILISE is 46. STABILISE 3% UVCDKNKUG
written as UVCDKNKUG. How TS o7l =3 (o8 CRICKET o3

would CRICKET be written in

the same code ?
(A) DSJDLEFS
(B) ETKEMGV
(C) KTMEVGV

(D) EKTMEGV

TS e 2'g 9
(A) DSIDLFS

(B) ETKEMGV
(C) KTMEVGV

(D) EKTMEGV

Series-A | 14 |
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Q.47 & 48 : Select the Venn Diagram
which best illustrates the relationship
among the items given below :

47. Lawyers, Honest, Dishonest,

(A) ® &
© OO0 ®» D

Police Constable, Peon, People

(A) ® &
© OO0 O D

Q. 49 & 50 Answer the following
questions based on the diagram :

48.

49. Which number

figures ?
(A) 5
B) 2
(C) 4
(D) 7

is in all 3

50. What is the product of numbers

which are laying only in
rectangle ?

(A) 6

B) 7

C) 72

(D) 74

o TR 47 - 48 : TS TR
| oaizacs foife Slereal R @
| RIS TN TR 2 PR ¢
47. IRERG, R, SO |

(A) ® @)
© OO0 o
48. #[fT5 e, PR, W2 |

(A) ® @)
© OO0 ®» D

& 7R 49 - 50 DA eoTe fefe F
5 WW:

ECE
En
; /‘\
5
1 2 7 6
/8 9\
49, THICH! R4y [l €l b St 2
(A) 5
(B) 2
(C) 4
D)7
|50, O WEeq e 4 RN
A6
B 7
L © 7
(D) 74

Q1

Series-A



